

St. Louis County, Minnesota



Date of Report: 5/6/2025 11:16:05 PM

			General De	tails					
Parcel ID:	215-0010-04	930							
Document:	Abstract - 80	3334							
Document Date	. 09/07/1991								
		Le	gal Descriptio	on Details					
Plat Name:	ANGORA								
Sec	tion T	ownship	R	lange		Lot	Block		
2	9	61		18		-	-		
Description:	SE1/4 OF N	E1/4 EX THAT F	PART SHOWN AS	S PARCEL 33 C	ON MN DOT F	R/W PLAT NUMBERED	69-113		
			Taxpayer D	etails					
axpayer Name	SCHULTZ B	ARBARA R							
nd Address:	9046 SAVA0	BE RD							
	ANGORA M	N 55703							
			Owner Det	ails					
Owner Name	SCHULTZ B	ARBARA R							
		Paya	able 2025 Tax	Summary					
	2025 - N	et Tax	x \$229.00						
	2025 - S	pecial Assessme	al Assessments			\$25.00			
	2025 -	Total Tax &	al Tax & Special Assessments \$254.00						
		Currer	nt Tax Due (as	s of 5/5/202	5)				
	Due May 15		Due Octob	per 15	- I	Total Due)		
2025 - 1st Hal	lf Tax \$127.0	2025 - 2	2025 - 2nd Half Tax \$12) 2025 - 1st Half Tax Due \$127.00			
	•						·		
2025 - 1st Hal	If Tax Paid \$0.0	0 2025 - 2	2025 - 2nd Half Tax Paid		\$0.00 20	25 - 2nd Half Tax Due	\$127.00		
2025 - 1st Ha	lf Due \$127.0	2025 - 2	2025 - 2nd Half Due		27.00 20	25 - Total Due	\$254.00		
			Parcel Det	ails					
Property Addre	ss: 8637 CO RD	987, ANGORA	MN						
School District:	2142								
ax Increment I	District: -								
Property/Homes	steader: SCHULTZ, E	ARBARA R							
		Assessme	nt Details (20	25 Payable	2026)				
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Lan EMV	d Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$34,500	\$36,600	\$71,100	\$0	\$0	-		
	0 - Non Homestead	\$11,300	\$0	\$11,300	\$0	\$0	-		
111		\$45,800	\$36,600	\$82,400	\$0	\$0	540		



St. Louis County, Minnesota



Date of Report: 5/6/2025 11:16:05 PM

			Land D			
			Land D	etalls		
Deeded Acres:	39.64					
Waterfront:	-					
Water Front Feet:	0.00					
Water Code & Desc:	D - DUG WELL					
Gas Code & Desc:	-					
Sewer Code & Desc:	S - ON-SITE SANI	FARY SYST	EM			
Lot Width:	0.00					
Lot Depth:	0.00					
The dimensions shown are no https://apps.stlouiscountymn.	ot guaranteed to be sur gov/webPlatslframe/frm	vey quality. / PlatStatPop	Additional lot Up.aspx. If the second	information can be here are any quest	e found at ions, please email <mark>PropertyT</mark>	ax@stlouiscountymn.gov.
		Improven	nent 1 Det	ails (DBL WID	DE)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
MANUFACTURED HOME	0	96	0	960	-	DBL - DBL WIDE
Segment	Story	Width	Length	Area	Foundat	ion
BAS	0	24	40	960	FLOATING	SLAB
DK	0	6	6	36	POST ON GI	ROUND
DK	0	8	15	120	POST ON GI	ROUND
Bath Count	Bedroom Cour	nt	Room C	ount	Fireplace Count	HVAC
1.5 BATHS	3 BEDROOMS	;	-		· _	CENTRAL, GAS
		Improven	nont 2 Doi	ails (SGL WID		·
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	•	Style Code & Dees
Improvement Type MANUFACTURED HOME	1974	92		924	Basement Finish -	Style Code & Desc. SGL - SGL WIDE
Segment	Story	Width	Length	Area	Foundat	ion
BAS	0	14 66 924 POST C		POST ON GI	I GROUND	
CN	0	8	8	64	POST ON GI	ROUND
DK	0	10	16	160	POST ON GI	ROUND
Bath Count	Bedroom Cour	ount Room Co		ount	Fireplace Count	HVAC
1 BATH	3 BEDROOMS	;	-		· _	CENTRAL, FUEL OIL
		Improvo	mont 2 Do	tails (CAPAC	E)	
	Veer Built	-		tails (GARAG	•	Chulo Code 9 De
	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.
GARAGE	0	21		216	-	DETACHED
Segment	Story	Width	Length		Foundat	
BAS	1	12	18	216	POST ON GI	KUUND
		Improve	ment 4 De	etails (8X12 S	Г)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
STORAGE BUILDING	0	96	6	96	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	8	12	96	POST ON GI	ROUND
		Improve	ement 5 D	etails (SAUNA	A)	
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.
SAUNA	0	80		80	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	8	g	80	POST ON GI	
5,0	•	~	10		1001010	





St. Louis County, Minnesota

		Improven	nent 6 Details (S	TORAGE)					
Improvement Type Year Built		Main Flo	Main Floor Ft ² Gross Area Ft ²			Basement Finish Style Code & Desc.			
STORAGE BUILDIN	NG 0	28	0 28	30	-		-		
Segme	nt Stor	y Width	Length	Area	Foundation				
BAS	1	8	10	80	POST ON GROUND				
BAS	1	10	20	200	POST ON GROUND				
		Improven	ent 7 Details (10	0X20 FAB)					
Improvement Typ	e Year Built	Year Built Main Flo		Area Ft ² Base	Basement Finish		ode & Desc.		
STORAGE BUILDIN	NG 0	20	0 20	00	-		-		
Segme	nt Stor	y Width	Length	Area	Foundation				
BAS	1	10	20	200	POST ON GROUN				
		Improven	ent 8 Details (12	2X20 FAB)					
Improvement Typ	e Year Built	Year Built Main Floor		Area Ft ² Base	Basement Finish		Style Code & Desc.		
STORAGE BUILDIN	NG 0	24	0 24	40	-		-		
Segme	nt Stor	y Width	Length	Area	Founda	ation			
BAS	0	12	20	240	POST ON C	GROUND			
		Sales Reported	to the St. Louis	County Auditor					
No Sales informa	tion reported.	-		-					
	•	Δ	ssessment Histo	NP1/					
	Class	~	556551116111111510	лу	Def	Def			
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity		
	201	\$36,800	\$33,300	\$70,100	\$0	\$0	-		
2024 Payable 2025	111	\$12,400	\$0	\$12,400	\$0	\$0	-		
	Total	\$49,200	\$33,300	\$82,500	\$0	\$0	545.00		
	201	\$30,900	\$33,300	\$64,200	\$0	\$0	-		
2023 Payable 2024	111	\$9,500	\$0	\$9,500	\$0	\$0	-		
	Total	\$40,400	\$33,300	\$73,700	\$0	\$0	480.00		
2022 Payable 2023	201	\$30,900	\$31,800	\$62,700	\$0	\$0	-		
		\$9,500	\$0	\$9,500	\$0	\$0	-		
	111	ψ3,500	\$ 0	φ9,300	ψŪ				
,	111 Total		\$31,800	\$9,500	\$0	\$0	471.00		
,						\$0 \$0	471.00		
	Total	\$40,400	\$31,800	\$72,200	\$0		471.00 - -		
2021 Payable 2022	Total 201	\$40,400 \$30,900 \$9,500	\$31,800 \$26,800	\$72,200 \$57,700	\$0 \$0	\$0	471.00 - - 441.00		
	Total 201 111	\$40,400 \$30,900 \$9,500 \$40,400	\$31,800 \$26,800 \$0	\$72,200 \$57,700 \$9,500 \$67,200	\$0 \$0 \$0	\$0 \$0	-		
	Total 201 111	\$40,400 \$30,900 \$9,500 \$40,400	\$31,800 \$26,800 \$0 \$26,800	\$72,200 \$57,700 \$9,500 \$67,200	\$0 \$0 \$0	\$0 \$0 \$0 Iding	-		
2021 Payable 2022	Total 201 111 Total	\$40,400 \$30,900 \$9,500 \$40,400	\$31,800 \$26,800 \$0 \$26,800 Fax Detail Histor Total Tax & Special	\$72,200 \$57,700 \$9,500 \$67,200	\$0 \$0 \$0 \$0 Taxable Bui	\$0 \$0 \$0 Iding	441.00		
2021 Payable 2022 Tax Year	Total 201 111 Total	\$40,400 \$30,900 \$9,500 \$40,400 Special Assessments	\$31,800 \$26,800 \$0 \$26,800 Tax Detail Histor Total Tax & Special Assessments	\$72,200 \$57,700 \$9,500 \$67,200 Y Taxable Land MV	\$0 \$0 \$0 \$0 Taxable Bui MV	\$0 \$0 \$0 Iding Tota	- - 441.00		







Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.